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TR 1 FEFREEERS

11 HEEN AR

FEGTE ARG T S R B E B B, AR LT YRR

(D) % AT AE i 7 R AR B A A2 22 5 Ik 4% R B, HOHE DR A TR B A Y
students.txt CHEH,

(2) ATENSAEAR B A 3T B ek B 7 A B T A5 (5 R AT BN AR bR 3 I

(3) B R AR B - A A ) T BE A iR 3 2 A e I AEAE A0 R A T X i 2 A B AR R
HEAT A, SR A7 AE U 5 (7] 1) 5 B,

C4) MR 22 AR R e X AR L B 2 A AT N R AR A T SRS 2 A A Al A R O AT IR

(5) ¥ A MG HEATHEY « # BRA AR 10 800 I m BIMIRGHEATHE Y .

(6) A A AEEE WA RN 2SS AL A B OCAE B 2R A 3 gl 1 %2
A AR R R B A R B W R i A 22 S AT

1.2 BFEITHEE
B2z AR BT — 1 Student 28, X BRI 22 A4 A 15 SC HCEEFBEE = TR K ST .
class Student: #E X —2pA42k

def _init_ (self):

self.name = "

self.ID ="

self.scorel = 0 # 1 UL B
self.score2 = 0 #BE LG
self.score3 = 0 # VLT L Bt
self.sum= 0 # K4y

A GV B GEAE T IR O T Z A ST AT W AR K . P students. txt SCHF AR TR AR AT
TR R AR AORAE 1A SO Y PN A I Ok B T SR B BRI s R B IR A
SRt A — > 25 B F0 3 R OR AT TP BB A B e P4 1 SR B9 B A 508l #8 2 R A7 12 1% 51
.

TE X)o7 A BEAE R BEAT B A CRLAE A 4R B 2 M BR AR I, B 5B 4T IT students. txt 3¢
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% SO v B S S AT R BCERAE il TR SO TP R AR B N 2 DL S R AT e BRI L O B
AR E B S 17, FJ?UJ;&:LFJV@EI’JW%‘ Seil T AT AT A0 B AR B AR AR
SRJG XA I AE B DL S A& HEAT 4 B8 . 45 B A2 A TR AN B S AR k4
ST /EE*XUL%}JFT/\ stulist F)F . xf 22 A BT B IIr A7 B AR #0241 X stulist
G AT I, A0 R TS A A 0GB 0T A SO s 2 SR 2 N B RGN FE AR 5 LS
W stulist FN R HE A X,

13 BFIZITHTE

1. %31 Student 26, #2415 B —4 Student 28, 17 4f 24 A8 115 SC B4 A9 iE
WGt TR E SR BTk

class Student: #RE L — A2k
def init (self):
self.name ="

self.ID="
self.scorel = 0 # 18 SCRL B
self.score2 = 0 #ﬁl%&—m
self.score3 = 0 LSt
self.sum = 0 #E'\ﬁ
def sumscore(self): # T B
self.sum=self.scorel + self.score2 + self.score3
def input (self): #5224 BI(E B

self.name = input( ("M AR 4
self.ID = input ("EHAAER ID: )
self.scorel = int (input( ("MIE AR SO S: ))
self.score2 = int (input( (" ACEAEECE RS )
self.score3 = int (input ("G AFENIEERS: "))
self.sumscore ()
def output (self, file object): #1231
print(self.name,self.ID, self.scorel, self.score2, self.score3, self.sum)
file object.write(self.ID)
file object.write

nomy

file object.write(self.name)

file object.write

" ll)

file object.write(str(self.scorel))

" u)

file object.write

file object.write

"oy

file object.write(str(self.score3))
”w )
str(self.sum))

"\n")

file object.write

(
(
(
(
(
file object.write(str(self.score2))
(
(
(
file object.write(
('

file object.write

2. it UIfe s AL
(D BIF A E R FEBI—A 2 A5 B e FI W 5 B R E & fF e iR E & 47
T VU SBCTH 5 AV 5 7 JU) ol D 30 02 A0 DR AT A SR AR A7 U SR i J7 U5 A S



g=me ez 1o

(2) MIBR2FAEGE, FEMER—2F A SR, B8R T stulist 51 £ 22409 1D 25BN
T 5 25, A0SR SR U stulist 51 3 o i B L SR 5 SR B 355 A 5 20K stulist 51 & H G
T A2 A S AU,

(3 B AR R TR — A2 A5 B 5 Jel Ji stalist S 2 A2 19 1D 215 0
BB ST U0 SRR U A XS BB e A R AR L IR SR AR B SR R
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(D WoRFTA AR . XEAE stulist 1R P RF A4 BITEN R G4 L.

(5) WGHHER . BT84 o A R Gt oh v AR AT 5 A S B A I g £ T b AR
FPOEk A R X stulist "RARTE B2 AR 05 Bt AT HE .

(6) EMF R AR R . e B (7 B #2225 (ID) AT R R %2 A W 2 5
stulist S5, UPKE 222 A 95 AT ED H R




g=me mamig 199

(D) Wt R B, FE NSO P e AR AR B LS AT 20 BRI B 36 s 5 513K s
T HE S RS U ARAT B AT 22 R A5 B stulist SR stulist 51 3R A7 LAY &
EDOE L

3. Wit E s, ERBUR— ARG 0T LB 6.
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TR BB AT R AT

B EEEU LG EEE RS OEAE RGNS, RRZR I,
(D) p b B B 2R FR AL &/ M i 5 id. B 5 4 FR name, B & 2850 category .,
i A kel VB A A B R xsl HE B
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(2) REMSHM AT A5 S BERS W B AT R i 1 5L
(3) REMEH4 7 s 44 Bk L T ot 2 0010 45 A 30 L T LA 00 B o R A7 /N T 5 I RS L L A0 if U7 X
HE.

(4) RERGHE By bh B 1 1 FEAT HER L OF A B s L ATENHEFP 4528
(5) REME AN M B3R A5 i CHE I Ay ot 28 A o o 45 DD BT R IO A5 R
(6) 7 fi B A5 S RAEAE SR

TR 2 BEFTHGHROATEARS

21 ThBEN A

B 2 A 2 72 G Bk T8 K A ATTAROMEAS 210 1) A 38 15 B IXRE R A AT R AT ok T
AL BT — DT RBER AR E B AW ARG . ARGRM T Hf A IIE . MLk &
WHIRE e 7 1T L7 H BEAT X3, AR IR RRS 20, AR RS E A 4 A BEH, B4R % £ if
B ol A A B T A B TS & 4 AR B

(1) Zep At .l DIARAT 2 A i) 28 52 Bivd i 1) 451> ol o

(2) ol AR . 3l i A PR S B R A A I A KL

(3) e MBILR . 73 00 58 HIR VA B8 — WA 3R . T2 TR BN AT Bk e G B 2k
1 B A e e T ik

(4) Ja B8 BT . T4 31 D18 5% SEBLUS N A 50 N BR S S22k B AE T RE

22 EFIZITHERE

NEEWMARGERETFTHEAMES AL LI S EE, X B SO ER ER
Wr.

of

1.5 %38 Fl| 23 2878 Tl S i % 12 P4 o S U DA S ) o 18 B AR R S o o 15 I S A R o i
% TN I <38 YD 1 /A [ PG 1] 4 3 T 4 20 L 65 A7 VT I 3l i I 220 425 2% Bt o T B B I 5 % Bl v 1
il S VB L) % 3 i I VA K R A RS M Ak I R R R T B I A 2 A K ] BB o ok G i $6: 00—
21:00 ZZfy 1 JC ABCD KA XK

1x 3K Al o— b (1% Bl 1 (E s R0 M 2R (B Jy s Bl ¥ Bk 0 7 il e 76 B ) % 9 il S Bl Vg I s o T
B BB Bt S 5020 4 25 B % L 6 AP VT B 8l SR 3R )T I S 2 VD 1 0 [l T 1] 238 U i ol 1 B TN B
Sl A 1A 5 S T I sl S A G AR B Ol S a8 I R A S T o L B U S Ol o0 A A B2 A Rl 96 00—
21:00 Z#y 1 JC ABCD KA

Horr 1s iy BAT . Ix A TFAT, 3l 505 B Z B DL Y643 F

INAEAE ) RGP SO IR B A D L R B AE BAE A route T, R BK A AEA
routename ¥ 3, route F M PAFEIE X (P45 . LRBE LM oI £ ).

Bl an, LA 2815 BAF A route - BLIN B 44 W2 B 44 1s BEXT LI N 25 1s R B 8 id
i S5 3 3%

print(route['ls'])
print (route[ '1x'])
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—y

R .

[HEMARAR Y, "RigF@Ep, "EEEERAT ", i, Rk
B, AR TN, R AR, IR, E I A A D
gk, CTERERE T, BRdER, PRt Faa vl 0, PR B 0, M R
S, UERORE R, AR ERIE B, kR ]

Crok sy, "— S PeE il v, RINERER R ', BB BR AR TE b, BRI T KB,
BB, AR ERE Y, CMERCEN R A, R P R, a0, B U AR
PETTY, "R, AR TN, B SO e, A B At 0, R AR
NI, RIS, AR A AT ]

ML IS BAEA route F 8L, 28 1% A 1A) Ll o5 A 3R] L 40 3 T RE A9 S I mT LA e ol Xt
route -4 B AH N B AE

23 BEFEITHSE

import math
route = {} # 2 PR A5 R 0
routename=[] AT AR

readRote ) J& UL 5 B A iR 48 . readRote O M\ gongjiao. txt SCAE 1 2 B B% 5 B
(AT =) LYo BRI & 50— A B0 T & £ % 44 (A 1s,201%) , /A routename, Ji5 [
ORI TUAE A route - BAH B A BB 0T Hh . Horb s route 57 B o B Ol 2R B 44 L X 7 B Dy 2K
gt SR,

def readRote() :
fp=open ("gongjiao.txt", 'r', encoding="gbk') #F & XA A4S, L] FEHN utf-8
#UnicodeDecodeError: 'gbk' codec can't decode byte Oxbf: illegal multibyte
sequence
while True:
line=fp.readline ()

if line=="": #8(F if not line
break
listl=line.split("s") #Lh 25 R
routename.append (1list1[ 0]) # PS4 (TN 1s,201x) , fEA routename
route[1ist1[0]]=1ist1[1:-1] # 384 T - X
fp.close() # & A S
#print (route.values()) #1& 0] = e ep BT A (R (IR LR MR R

#print (routel '1x'])

findRote ) J2 52 B L& i £ 1) D1 BE (1Y ok 5, 1 W7 26 45 2L 7L route W J2 A7 15 L 2K 44
R B S O R A AR AL HT BN I £ B 44 114 BT 7 B L R R B 1 R

def findRote () : # 2 e £ 1) ) fiE
findRoteName = input ("iFM ABIHLEZ: ™)
if findRoteName in route:
print (route[ findRoteName]) #FTED X R A (E (ED L 2R A )

else:

print ("HAA RG] BA RE A AR LB )



B=E8BHn Hw&RU

findStation () J2& 5 88 3 45 27 18] T) 68 1) 2R 20, A 75 2 [ 48 %15 B 7 i route , ) W 8 %o
N AE value (28 5 283 19 3 50 J& T A7 72 A0 )0 050 24 o AN SRAFAE AT B MR B key (R 44D o

def findStation() : # 0l 5 AT 1 T RE
stationName = input ("iFH AR S Z: ™)
print (" IE LA : ', end=" ")
# 30 5 7 St
for key,value in route.items() :
if (stationName in value) :
print (key,end="; ")
print ()

huanRote () 52 52 S 45 3¢ £ 1) D RE (Y pR . I R 85000 T RE LA A2 2, B S S A T kS 46
i BN 2 R A BRI WU T IR 2 B ) 7 A e
XF L 3 1) AT T L T B S0 B T ek i e R U R AR TR — 2% |
PR DN RE L IR 2 i S R B AE A S B 3R R £ &N R B AE A D B R Bk
JEFIWr S FNFR A keyl LRBEA D 513 P Y key2 2R HEIE A7 A R 3l 14 sameStationName., 4115
ﬁﬁ‘ﬁlﬁﬁﬁljj\ sameStationName , W 36 2 M #f 3l 15 28 3F keyl £k 53 sameStationName # 7]
ORI key2 LR AT LIBIR LA,

def huanRote () : #4725 1) U Rk
startStationName =input ("igH ARBH S L : ") # ok ke
endStationName =input ("IHM AL EZ: ") CES Y
canGo=False
# X L3 1 4 e
for key,value in route.items() :
if (startStationName in value) and (endStationName in value) : #Tj—:ﬁl—/l\?)%ﬁﬁj:

canGo=True
print ("AZA] HIKL K", key)
if canGo==False:
print ("AXAA] Hik
# 43
s=[] # 28 2ol A A 2 B
D=[] #2804 R 2R B
for key,value in route.items() :
if (startStationName in value) :
S.append(key)
for key,value in route.items() :
if (endStationName in value) :
D.append (key)
4] DT 2 8% 22 ) 2 75 A A [R) 3
for keyl in S:
for key2 in D:
if hasSameStation (keyl, key2) :
sameStationName=hasSameStation (keyl, key2)
nl=stationNum(startStationName, sameStationName, keyl)
n2=stationNum(endStationName, sameStationName, key?2)
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main() J& 3 PR AL, J& A B2 A R GERR PP B9 1 BR B, 2 2 I B S B kR




